

1.a) $\int_0^{\sqrt{\pi}} \cos(2x) dx = \left[\frac{\sin 2x}{2} \right]_0^{\sqrt{\pi}} = \frac{1}{2} (\sin \frac{\pi}{2} - \sin 0) = \frac{1}{2} \cdot \frac{1}{2} = \frac{\sqrt{2}}{4}$ b) $\int x^2(x^2+1) dx = \int x^4 + x^2 dx = \frac{x^5}{5} + \frac{x^3}{3} + C$
 c) $\int e^{\sqrt{x}} dx = \int_{x=t^2, dx=2t dt}^{\substack{t=\sqrt{x} \\ x=t^2, dx=2t dt}} e^t \cdot 2t dt = 2 \int t e^t dt = [PI] = 2(t e^t - e^t) + C = 2((\sqrt{x}-1)e^{\sqrt{x}}) + C$

2) $y' - y = 0$ IF: $e^{\int -1 dx} = e^{-x} \Rightarrow \frac{d}{dx}(e^{-x} y) = 0 \cdot e^{-x} = 0 \Rightarrow e^{-x} y = C \Rightarrow y = C e^x, 1 = y(0) = C e^0 = C \Rightarrow C = 1 \Rightarrow y = e^x$

3) $y = y_p + y_h$: Kern eLW: $0 = v^2 + 3v - 4 = (v-1)(v+4) \Rightarrow y_h = C_1 e^x + C_2 e^{-4x}$
 Ansatz $y_p = C x^4 e^{2x} = (u=0) = C e^{2x} \Rightarrow y_p' = 2C e^{2x}, y_p'' = 4C e^{2x}$ Einsetzung $\Rightarrow 6 = 6C \Rightarrow C = 1 \Rightarrow y_p = e^{2x} \therefore y = e^{2x} + C_1 e^x + C_2 e^{-4x}, y' = 2e^{2x} + C_1 e^x - 4C_2 e^{-4x}$
 $y(0) = y'(0) = 1 \Rightarrow \begin{cases} 1 = 1 + C_1 + C_2 \\ 1 = 2 + C_1 - 4C_2 \end{cases} \Rightarrow C_1 = -\frac{1}{5}, C_2 = \frac{1}{5} \Rightarrow y = e^{2x} - \frac{1}{5} e^x + \frac{1}{5} e^{-4x}$

4) $L = \int_0^1 \sqrt{1+(f'(x))^2} dx = \int_0^1 \sqrt{1+(x^{1/2})^2} dx = \int_0^1 \sqrt{1+x} dx = \left[\frac{2}{3} (1+x)^{3/2} \right]_0^1 = \frac{2}{3} (2^{3/2} - 1)$

5) a) $\lim_{x \rightarrow 0} 2 \cdot \frac{\sin(2x)}{2x} = 2 \lim_{x \rightarrow 0} \frac{\sin 2x}{2x} = 2 \lim_{t \rightarrow 0} \frac{\sin t}{t} = 2 \cdot 1 = 2$ b) $\lim_{x \rightarrow \infty} \frac{x^2(1-\frac{1}{x} + \frac{1}{x^2})}{x^2(4+\frac{1}{x})} = \frac{1+0+0}{4+0} = \frac{1}{4}$
 c) $\lim_{x \rightarrow 0} \frac{\ln(1+x) - x}{\ln(1+x) + \cos x - 1} = \lim_{x \rightarrow 0} \frac{-\frac{x^2}{2} + o(x^2)}{-\frac{x^2}{2} + o(x^2) - \frac{x^2}{2} + o(x^2)} = \lim_{x \rightarrow 0} \frac{x^2(-\frac{1}{2} + o(x^2))}{x^2(-1 + o(x^2))} = \frac{0+0}{-1+0} = 0$

e) $y'(t) =$ Veränderungen: jährl. med. Zinsen = $ky(t) - a, k = 4/10 \Rightarrow y' - ky = -a$
 IF: $e^{\int -k dt} = e^{-kt} \therefore e^{-kt} y = \int \frac{d}{dt}(e^{-kt} y) dt = \int -a e^{-kt} dt = \frac{a}{k} e^{-kt} + C \Rightarrow y = \frac{a}{k} + C e^{kt}, y_0 = y(0) = \frac{a}{k} + C \Rightarrow C = y_0 - \frac{a}{k} \therefore y = \frac{a}{k} + (y_0 - \frac{a}{k}) e^{kt}$
 Vgl. a) s.a. $y_0 - \frac{a}{k} = 0 \Rightarrow a = k y_0 = \frac{4}{10} y_0$

7) $I \equiv \int \sqrt{x^2+1} dx = \int \frac{x^2+1}{\sqrt{x^2+1}} dx = \int \frac{x^2}{\sqrt{x^2+1}} dx + \int \frac{1}{\sqrt{x^2+1}} dx = I_1 + I_2$
 $I_2 = \ln|x + \sqrt{x^2+1}| + C = \ln(x + \sqrt{x^2+1}) + C$
 $I_1 = \int x \frac{x}{\sqrt{x^2+1}} dx = [PI] = x(x^2+1)^{1/2} - \int 1 \cdot \sqrt{x^2+1} dx + C = (x^2+1)^{3/2} - I + C$
 $\therefore 2I = (\text{bootstrapping}) = x\sqrt{x^2+1} + \ln(x + \sqrt{x^2+1}) + C \Rightarrow$

$\int \sqrt{x^2+1} dx = I = \frac{x\sqrt{x^2+1}}{2} + \frac{1}{2} \ln(x + \sqrt{x^2+1}) + C$

8) Siehe vorher.